Math 102 – Quiz #8 (Sections 3.3, 3.4, 3.5) 
Name ______________________________

Show your work to receive credit!

1.
Find the average rate of change between the pair of points (3, –2) and (–2, 1) 


a.
by plotting the points and reading off the rise and run.


b.
by using the formula
2.
Find the slope and the y-intercept of each of these lines.


a.
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b.
the line whose graph is shown.



_________, ___________
_________, ___________


slope
y-intercept
slope
y-intercept

3.
Find the equation of the line shown above in 2b.




_____________________




equation

4.
Use the slope and the y-intercept to make a table of values for the line 
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.  Then graph the line.



5.
Find the equation of the line with slope 
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 that passes through the point (8, 5)




_____________________




equation

6.
Find the equation of the line that connects the points (3, 4) and (11, –4).




_____________________




equation

7.
Solve the system of equations 
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 and 
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 by graphing.




_____________________


solution

8.
Solve the system of equations 
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 and 
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 by substitution.




_____________________




solution
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